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Review Questions of International Finance
1. Fill in the brackets:

1) The Balance of Payment is the net of the Receipts minus the Payments of Foreign Currencies or Foreign Exchanges from and to the rest of the world.  The BP is the sum of the balances of the ______________and the balance of ______________: BP = CA + KA. The current account balance is approximately equal to Trade Account, and the difference between the two is the transfer payment such as economic aids. CA = Export minus Imports.  KA = _____________ minus ______________. 
2) What are the determinants of the Current Account? In particularly, CA = NX = X-M, and what are the determinants of the X and M?

3) What are the determinants of the Capital Account, KA = CI-CO? 

2. Foreign Exchange rate is defined in accordance with the European Quotation:  

1) For Canada, define the representative FX rate by using USD and CAD.

2) What is the most updated (representative) FX rate for Canada?

3. 1) Suppose that in numbers, BP = CA + KA = 0.  We can say that the BP is at equilibrium. 

What does this mean for the supply and demand of Foreign Exchanges?

2) Suppose that in numbers, BP = CA + KA <0. 
i)What do you say about this situation in words?  “The Balance of Payment of a nation is in _____________”

ii)What does this mean for the supply and demand of Foreign Exchanges?


iii)What does this mean for the price of Foreign Exchanges or ‘Foreign Exchange Rates’?


iii) Circle your answer: There occurs  (Upward/Downward) Pressure on FX Rates.

v)If the government allows the FX to move, this is called ‘Flexible Exchange Rate System or Policy’.  What will happen to the FX rate or S?  Does Foreign Currency appreciate or depreciate?  Does the domestic currency appreciate or depreciate?
v)In light of the above Question 1. 2), what will happen to X and M, and thus the current account CA?

3) Suppose that in numbers, BP = CA + KA >0. 

i)What do you say about this situation in words?  “The Balance of Payment of a nation is in _____________”

ii)What does this mean for the supply and demand of Foreign Exchanges?


iii)What does this mean for the price of Foreign Exchanges or ‘Foreign Exchange Rates’?


iii) Circle your answer: There occurs  (Upward/Downward) Pressure on FX Rates.

v)If the government would peg down the FX so that it does not move, this is called ‘Fixed Exchange Rate Policy’.  

How can the government achieve the pegging of the FX rate in the financial/FX market?    Should the government create Supply or Demand of FX in order to defuse the pressure on S?
v)What will be the consequence of the government’s intervention in the FX market as shown in v)?
4. Let’s derive the BP curve. You will need at least two points of BP =0:

BP = CA(Y, Yf, S) + KA(i,if, Se) as we have got for the answer of Questions 1. 2) and 3).

To derive, you have to hold all other variables, except for Y and i.

BP = CA(Y) + KA(i);

And to draw a curve, you need two points where BP =0:

Start with BP =CA(Y) + KA(i) =0; Move horizontally(meaning i being held constant but Y increased); now BP <0; How to restore BP =0 by changing i?  

We know that, in order to have an increase in KA, which offsets the decrease in CA and thus to restore BP=0,  interest rate i has to go up and to bring about Capital Inflows: as the domestic interest rate i goes up, now international capital starts flowing in and the capital account will improve to bring back the BP to the initial position of ‘balance(d)’. 

How much should i or interest rate go up depends on the elasticity of capital inflows with respect to interest rate, which we refer to ‘a degree of capital mobility’. 

As you link two BP=0 point, you get the BP =0 curve, or, in short, BP curve. 

5. Explain and illustrate how the following change shift the BP curve: 

1) Foreign country’s national income or Yf goes up.

2) Foreign Exchange Rate of S goes up.

3) Foreign Country’s interest rate goes up. 

4) Foreign Exchange Rate is expected to rise.

6. Re-introducing the issue of BP disequilibrium: BP >0 or BP <0.

BP>0 is the area above or to the left of the BP (=0) curve;

BP<0 is the area below or to the right of the BP (=0) curve. 

	
	BP>0
	BP<0

	Balance of Payment
	in Surplus
	In ______

*fill in your answer)

	A country’s FX Receipts versus Payment
	Receipts (>;  or <) Payment

*circle your answer
	Receipts (>; or <) Payment

	A country’s FX Supply versus Demand
	Supply (>; or <) Demand

*circle your answer
	

	Pressure on the price of FX or S
	S will bear (Upward; or Downward) pressure

*circle your answer
	S will bear (Upward; or Downward) pressure

*circle your answer

	Flexible FX System/Policy


	S will (fall; or rise)

*circle your answer

Paraphrasing it, 

FX depreciates and domestic currency appreciates.
	S will (fall; or rise)

*circle your answer

Paraphrasing it, 

FX appreciates and domestic currency depreciates.

	
	X will __________;

M will ___________.

CA will ___________.

BP will start (increasing; decreasing). 

BP curve will start moving 

__________. 

And IS curve will start moving _________.
	X will __________;

M will ___________.

CA will ___________.

BP will start  (increasing; decreasing) _________ .

 BP curve will start moving 

__________. 
And IS curve will start moving _______. 

	Or, Alternatively

	Fixed FX system/policy 
	Government has to (sell; buy) FX
As Government (buys; sells) FX, the payment in money flows from the general public to the government, and thus the money supply in the private sector (falls; rises).

The LM curve moves to the (left/right).

As money supply (rises; falls), the (inflationary; deflationary) pressure on Y starts. 

*circle your answer.
	Government has to (sell; buy) FX

As Government (buys; sells) FX, the payment in money flows from the general public to the government, and thus the money supply in the private sector (falls; rises).

The LM curve moves to the (left/right).

As money supply (rises; falls), the (inflationary; deflationary) pressure on Y starts.


7. Off the BP curve: Adjustment at BP disequilibrium (either BP>0 or BP<0):

We note the combination:
1) When BP>0, depending on which the FX rate system/policy, out of fixed and flexible, is adopted, ultimately the national income or the economy may have boost, or suppression.  
	
	BP>0

(above the BP curve)
	BP<0

(below the BP curve)

	Flexible FX System/Policy


	S will (fall; or rise)

*circle your answer

Paraphrasing it, 

FX depreciates and domestic currency appreciates.
	S will (fall; or rise)

*circle your answer

Paraphrasing it, 

FX appreciates and domestic currency depreciates.

	
	X will __________;

M will ___________.

CA will ___________.

BP will start (increasing; decreasing). 

BP curve will start moving 

__________. 

And IS curve will start moving _________.

It is (boosting; suppressing) national income. 
	X will __________;

M will ___________.

CA will ___________.

BP will start  (increasing; decreasing) _________ .

 BP curve will start moving 

__________. 

And IS curve will start 
It is (boosting; suppressing) national income. moving _______. 

	Or, Alternatively

	Fixed FX system/policy 
	Government has to (sell; buy) FX

As Government (buys; sells) FX, the payment in money flows from the general public to the government, and thus the money supply in the private sector (falls; rises).

The LM curve moves to the (left/right).

As money supply (rises; falls), the (inflationary; deflationary) pressure on Y starts. 

*circle your answer.
	Government has to (sell; buy) FX

As Government (buys; sells) FX, the payment in money flows from the general public to the government, and thus the money supply in the private sector (falls; rises).

The LM curve moves to the (left/right).

As money supply (rises; falls), the (inflationary; deflationary) pressure on Y starts.


In summary,

	
	BP>0
	BP<0

	Flexible E Policy
	Y down
	Y up

	Fixed E Policy
	Y Up 
	Y down


2) Suppose that BP<0 – a country is in BP deficits, what kind of FX system should the government adopt if it wants to boost the national income (Y up)?

3) Suppose that BP<0 – a country is in BP deficits, what kind of FX system should the government adopt if it wants to suppress the national income (Y down)?

8. Illustrate the following cases and adjustments for BP in each of all cases for alternatively foreign exchange rate policy/system:

 Here the economy has unemployment rate higher than the natural rate of unemployment, and the government wants to increase Y(Y<Yf for now).  Suppose that the domestic equilibrium or internal equilibrium comes with the external equilibrium: the recession or Y<Yf is not caused by any disequilibrium of BP, such as lack of international demand for X or lack of capital inflows. Simply Y <Yf and BP =0 initially.  The government adopts expansionary economic policies to increase Y to the Yf level. Illustrate and explain the following cases with the IS-LM-BP curve model. 

1) Capital is perfectly mobile.  Expansionary Fiscal Policy is adopted for a larger Y.

What will happen under the Fixed and Flexible FX rate system respectively?

2) Capital is perfectly mobile.  Expansionary Monetary Policy is adopted for a larger Y.

What will happen under the Fixed and Flexible FX rate system respectively? 

3) Capital is relatively immobile.  Expansionary Fiscal Policy is adopted for a larger Y.What will happen under the Fixed and Flexible FX rate system respectively? 

4) Capital is relatively immobile.  Expansionary Monetary Policy is adopted for a larger Y.

What will happen under the Fixed and Flexible FX rate system respectively?

9. Internal and Policy Mix Illustrate the following cases and adjustments for BP for alternatively foreign exchange rate policy/system:

 Here the economy is overheated, and thus the government wants to suppress Y (Y> Yf for now)  Thus it adopts contractionary economic policies.

Illustrate and explain the following cases with the IS-LM-BP curve model.

1) Capital is perfectly mobile. Contractionary Fiscal Policy is adopted for a smaller Y.

What will happen under the Fixed and Flexible FX rate system respectively?

2) Capital is perfectly mobile.  Contractionary Monetary Policy is adopted for a smaller Y.

What will happen under the Fixed and Flexible FX rate system respectively? 

3) Capital is relatively immobile.  Contractionary Fiscal Policy is adopted for a smaller Y. What will happen under the Fixed and Flexible FX rate system respectively? 

4) Capital is relatively immobile. Contractionary Monetary Policy is adopted for a smaller Y.

What will happen under the Fixed and Flexible FX rate system respectively?
10. (Policy Mix) In fact you get the same stories about the good match of FX rate system and an economic policy whether expansionary or contractionary economic policies are adopted.  

From the answers to Questions 8 and 9, what conclusion can you draw as regards the adoption of foreign exchange rate policy/system (circle your answer):
‘When capital is internationally mobile for an economy, when the government is adopting a certain fiscal policy, regardless of whether it is expansionary or contractionary, the good choice of FX system/policy is the( Fixed; Flexible FX) one.  On the other hand, when capital is immobile, the good choice FX rate system for a fiscal policy is the (Fixed; Flexible) one..    As for a monetary policy, however, regardless of capital mobility the best choice of FX system is always the (Fixed; Flexbile) one.”
11. (External IS shocks) Which Foreign Exchange Rate System is better at insulating the domestic economy from a (negative) IS shock?:

Illustrate the following situation:

1) Suppose that capital is perfectly mobile.  And the economy is in the grand equilibrium with all IS-LM-BP curve intersecting at one point.  Illustrate it.

2) Suppose that there occurs a decline in international demand for domestic products. Illustrate it.

3) Check the nature of BP disequilibrium as a result of the change of Question 2). 
4) From Question 3), suppose that the government adopts Fixed Foreign Exchange rate System. What will happen to the economy? Illustrate the adjustment. 
5) From Question 3), alternatively, suppose that the government adopts Flexible Foreign Exchange Rate System. What will happen to the economy? Illustrate the adjustment. 
6) Explain why any additional expansionary economic policies are NOT necessary for a recovery in one of these cases out of 4) or 5).  In other words, an adoption of a good FX rate system will shield the country completely from the adverse international demand impacts. 

12. Illustrate the following situation:

1) Suppose that capital is perfectly mobile.  And the economy is in the grand equilibrium with all IS-LM-BP curve intersecting at one point.  Illustrate it.
2) Suppose that there occurs a decline in the foreign country’s interest rate. And the domestic economy is small and the foreign country is much bigger.  Illustrate the change. 
3) Check the nature of BP disequilibrium as a result of the change of Question 2). 
4) From Question 3), suppose that the government adopts Fixed Foreign Exchange rate System. What will happen to the economy? Illustrate the adjustment. 
5) From Question 3), alternatively, suppose that the government adopts Flexible Foreign Exchange Rate System. What will happen to the economy? Illustrate the adjustment. 
6) Explain how the country will never be able to shield itself from the adverse international monetary impacts. 
13. Reflect on why all governments of the world pay a good attention to the words of the chairperson of the Federal Reserves of the U.S., and do so more than they would to the words of the president of the U.S. Hint: compare the conclusion of Questions 10 and 11. 

14. What are the pros and cons of Fixed versus Flexible Exchange Rate system or policy as an option of external economic policy?  For a facilitated discussion, start with the claims that fluctuating foreign exchange rates are a major impediment for free flow of goods across nations or international trade, and that the fixed exchange rate system leads to a better discipline in monetary policy. Present the opposite views to these two lines of claims. 

